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11-1a Simplifying Radicals

-adical symbol \/— indicates a square root. The expression under the radical sign is the

radicand. If the radicand is a perfect square, the result will be an integer (Ex. V16 =4).
You will need to memorize the perfect squares in order to simplify radicals that are not
perfect squares.

The number 50 is not a perfect square, so if you evaluate V50 you get 7.071067812. -

The important thing to remember is that each of these radicals will have a decimal equal to
it. Considering this fact, answer the following multiple choice Regents Question.

Example

1. What is 2445 expressed in simplest radical form?
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1) 35 @ 55 [3@ @ 185
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The reason we want to Simplify Radicals is the same reason why we reduce fractions into
their lowest terms. You can simplify a radical expression by removing the perfect-square
factors from the radicand. To do this we use:

\B

AIAIAGAINININANINANININS AN ANV

Multlphcatlon Property of Sq are Roots

For every number,a 2 0,and b 2 0

ab=vas\b

P S N O VY, A, A AT T T
A > AAAAA 7 A/ % FAVAVEVENEL VAV AV AV AV EVAVEV VAV AV AVAV VAV VAV VIV

1. Start by dividing the radicand by 2. /
Continue with 3, 4, etc. until a 54
perfect square appears. / \

iy i

2. Split the Square Root into two J qQ {Tpﬂ

separate square roots, with the first
being the perfect square.

3. Simplify the Perfect Square root.
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Perfect
Squarss

J1=1
Jy =2
Jq =3
Jie =4
Jis =5
Va6 =6
JHy =7
Joi =8
Jsl =9
Jioo =10
J) =11
)y =12
JIes =13
196 =14
V725 =15
J756=16
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Practice 11-1 Name

1. What is 3v/250 expressed in simplest radical form?
\—/ :

(1 5410 2 810 3) 1510 @) 75v10

2. What is V72 expressed in simplest radical form?

(1) 218 @ 3V8 @) 632 (@) 83
Simplify each Radical.
3. V200 4 V28

W/

5. V147 6. \]320

2 \20a’ 8. \/96x8 y’



